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  COMPREHENSION 
 

A. CHOOSE THE CORRECT OPTION : 

 

1. The old man in a tree was bored by a 

A. Bee 

B. Flea 

C. Knee 

 

Ans = Bee 

 

2. How many larks were there in the beard of the old man ? 

A. Six larks 

B. Five larks 

C. Four larks 

 

Ans = four larks 

 

3. A Steed is a 

A. Dog 

B. Horse 

C. Donkey 

 

Ans = Horse 

 

4. The man who had great presence of mind was from 

A. Berlin. 

B. Basing 



C. Bengaluru 

 

Ans = Basing 

 

 

 

IN H.W. TRY TO SOLVE A, B ,C  AND D. 
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